AR HER AT EERH 2V URRREA

108 8 &8 L Hmd 2 284 L RIAETRBRE A

R EE)ew e - e

[£ k4P ]

¥ B4 P (%) &5 (A)(C3103)

D EEEREICE S FAEE - E 3 @R R

L FPHIEETIEERGHER  TEP P LT

. HEAE 203 -




i

. % E SMax+by+3=0% % - ~ = ~z % *T> P 8 (ab,a)

(A) -
(B)
(C)
(D)

= \\\ Iy

-3
+

Ny \n:n\.

(A) (8,-4)
5
17

C 1 __°
(C) (-3, 4)

(D) (-2,0)

. sin570° + tan(—1215°) +sec(-300°) 2 & & @ ?

2
A) <
(A)
(B) 3
2
) 2
2
o) .
2

Lt R A XT+x+a<0z 2 5 b<x<2 . pla+b=29

(A) -12
(B) -11
(C) -10
(D) -9

(]

(A) -3
(B) -2
(C) -1
(D) 1

)

20 4% > & 4L 5 A

3|

so g2 & XP 4yt —8x+4y=kz2 B3

pn E]l]kff,;:‘%’

S

_rﬁ]o

R

ML B (4,1) F 2 F MAX+3y=TL 3 > p| T

EFEFES Y

Fl& 5 8 x=y1



.- i -}
w5 (A)
6. F X-28 x—13% f(x)=x>+ax’ +bx+62 Fl5* > Al £(5)=7?
(A) 96
(B) 98
(C) 100
(D) 102
7.3% T w + = B A(a,-5),B(2,5),P(4,b) - = P & AB}+ ¥ AB:BP=5:2 -
Pla+b="7?
(A)5
(B) 6
(C) 7
(D) 8

8.k a>d. FUBQ a)ifle > JIO: L ErFiERG6) 0 Bl ai
7
(A)9
(B) 10
(C) 11
(D) 12

9.4 AABC ¥ » % /ABC=45° > /ACB=105° > BC=8 » §] AC=?
(A) 62
(B) 82
(C) 1042
(D) 1242

102 o, f5 & #2558 X2 =5x+3=02 4 2 > Bl &*B+aBf’=7?
(A) 55
(B) 57
(C) 59
(D) 61

11.%5 % % 2 x> 43x+k<0& F 83 > BMIk2 ¥ i 5 T 5 @& ?
(A) 2
(B) 3
(C) 4
(D) 5

1
(\9)
>

-
N
bl



rH - B e
w5 A)
2R E S Z B2 % 3 L1l % 9O 229 Pl E X HKY 5H
I 11:§N,1ri,,ﬂ ?
(A) 176
(B) 182
(C) 188
(D) 194

¥>\At

13.%5 % % #a=(-2,3) > b=(1,4) > R (d —2b)-(3d +4p)="7
(A) -117
(B) -115
(C) -113
(D) -111

14.3 a=log;4 - b=1logy15 > c=log . plasb-cx ] 3@ ?
(A) c>b>a
(B) c>a>b
(C) b>c>a
(D) a>b>c

15, 782 2242 P36~ 4 B s @ 2 2 4 50 #ics) o Pl 50 15
N‘f‘?rﬂ\ iw (?
(A) 217
(B) 300
(C) 360
(D) 441

a
16.3% 28 =27 » 4P =3, p|52b-9
(A) 5
(B) 25
(C) 75
(D) 125

17.4 1\2\3\4\5\6\7”‘; (-2 - = ’Ei&fifﬁ#ﬁﬂﬁxif%ﬁ
SRl FHZBA L S BE MEGF RSB R 8 ?
(A) 60
(B) 160
(C) 180
(D) 200

‘},}
(O8]
=

.
N
=



3x+4y <12

8;§k<005‘§'2”}§3— Pk A E x>0 m‘g‘:iﬁsﬁq‘i%é
y >k

24 > plkiE & @ ?

(A) -6

(B) -5

(C) -4

(D) -3

19.3 8 [ 4 ¢ » P EAMS ML ERIL 0L 154 - F 4
B IS Y TE SHIFE > P E AT OV E 33 0 P PE D
SRR
(A) 401
(B) 451
(C) 501
(D) 551

At

JE‘JJ\#EEIJ‘QPT:1\2\a\bo?"ﬁ:ﬁjﬁﬁ:i

Hod )

20,4 - mdEF
i 30 R

(A) 20
(B) 21
(C) 22
(D) 23

’ Jal’t’bm“l&ﬁpaf ?

2
n
R
-
~
R



